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(1) FEEVRLITETOR HIEE OERRE (TD11)

TD11 = 2.7 XA+105.4 XB+7.3XD+0.8 XF-1.0

= 15.2 A FHEPER X i FE(ha)
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B : B AR
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D : FEEWICIDERRERL
0.3
FEE MR
YA 0.0
Ui} 0.3
AN 0.9
F o FHIEIEHEWE(Cm)
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(2) FEBVELTIETOXR LRELOERERER (TD12) ELTRELUE(Cm)
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TD13 = -3.7XA+11.0
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Al : #HEME  (ha)
C: HEARI A2 FEHEF (ha)
1.0 A3 : mHEFE  (ha)
E: B+ B X5
1.0 oAz 0 1 X5y
D2: FEM|Z L5 IE A R 0 i -WE 1
0.7 1 REE - 1

TDa =
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X4y | D2
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XELR-mE/RIR
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KERGL H = i B E
Bl | 4 PR B =X H &
[1-1-253CH KR ]
PR ERAE R CEHBRBER R E L D) 6.97 m’
FEmH R CEHBRBER R E L D) 5.22 m’
HILEEL e+ IRE2 N I) CEHRRBEREE L D) 0.23 m’
THHLpE2 e+ IRE2 N I) CEHBRBEREE L D) 0.68 m’
HE L Wie A & IRE2 N I) CEHBRBEREE L D) 0.52 m’
HLEE2 At BN J) CEHIEEEEL D) 2.53 m’
B3 i 1 WBn-7 AN R CEYRBEGHRELY) 2.16 m’
HpE4 i 1 WBn-7 AN CRYRBEGIRELY) 0.73 m’
#F# 7 — 7 |B=150mm CELIRRRERT AR E L V) 10.45 m
BB A VERR ¢ 200 (K 3FE [E4SL=5.00m N
I B4E KW 3ff E (U L=1.00m, ZY)HL=3.00m, FE%L=1.00m) N
5 B A VERBE G | 6 200 o B
277y (H2(%%) |187.3kg/A X 1m/5m/ K 37 kg
% KIE ¢ 200 90° s (148 57. lke/{H) 4 A
FRTE (K 0 200 fi
W kL ==V (VU-RR) | ¢ 200 L=5. Om 1.03+1.43+2. 93 5.39 m
BEERBLANHL 1 Yot $ 200 1 L X gk o M
eI dh 6 200X 5° 5/8 1 1
P R | ¢ 200X ¢ 25 ]
DUHZERIT | 025 1 &
a7 ) — |
27 Y — BT | EREEY [18-8-40  0.56X0.56X 1. 13X 2 0.70 1.50 m’
0.56X0.56X0.97X2 0. 60
0. 56X 0. 56X (1.60-0. 56 X2) X2 0. 30
—(0. 22%0. 22% 1t X 1/4) %2. 58 -0. 10
0. 70+0. 60+0. 30-0. 10 1. 50
HLarv sy — b [EFHEEY |18-8-40  0.76X0.05X (1. 17+0. 57) 0.10 0.20 m*
0.76X0. 05X (0. 41+1. 33) 0. 10
IR T — TR [EREEY (0. 56X 0. 56— (0. 22%0. 22% X 1/4) } X4 1.10 6.90 m”
) {0(0.97+1. 13) X 0. 56]1+[ (1. 60-0. 56 X 2) X 0. 56]} X4 5.80
BL=ar 0.76X (1. 17+0. 57) 1. 30 2.60 m”
Z 0.76 % (0. 41+1. 33) 1. 30
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T T N X% 5t & &
4-1-2T X
BT EBEI FHAKBIHEKEI & =
gyt 1,030 155 1,185
Bt 1,030 174 141 1,344 159
BA=E 9 9
TOARET 159 m3
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(2/2)

ik & T BEHEE (3E)
oAl A A X ¥ B OHAL Of§ OE
(L HIE)
HEHE IH
FEHE - FL t=0. 15m 200.0  200.0 m2
HEHAE IH
it 200.0  200.0 m2
N PRIE - E EREIE S WAL 2. 67m2
i@ R Wi 6. 88m2
(2. 67+6. 88) /2+JEFE51. 0 243.5 244 m3
A GEE &) 270. 6 270 m3
(&avy)-h)
PR 1. 87 (4. 0+1. 0) %2 18.7 18.7 m3
HR 0. 66% (4. 0+1. 0) %2 6.6 6.6 m3
¥ Lavy)-h 18N/mm2  |1.65%0. 14, 0%2 1.3 1.3 m3
A A ((0. 1%4. 0) +(0. 1%1. 65) ) %22 2.3 2.3 m2
/) =} 18N/mm2 (((0. 545+0. 8)*0. 85/2) + (1. 45%0. 65) ) *4. 0%2 12.1 12.1] m3
] b 7 ((0. 887+0. 85) + (0. 65+0. 65) ) 4. 0%2 24.3 30.4 m2
(((0. 545+0. 8)*0. 85/2) + (1. 45%0. 65) ) *2%2 6.1
THte, oy | HEfHas))-) 13.4  m3
(R H)
TR 1000%2000  B4. 00m X L8. 00m 32.0  32.0 m2 CHEHEISOH
MT00m2LL F 424kg/Fe X 164 6.784  6.784 ton
B2 EME 8.00%3 24. 00 24.0 m
H—35H0§£ﬂ<350 135kg/m X 24.0m 3.240  3.240 ton
i3z Hoo%tz%ﬁﬂxw& 3.35%X2 6.70 6.70 m
- 43.8kg/m X 6.70m 0.293  0.293 ton
(jfgf?;) [—ZOZ%gﬁogx%ﬂxlsj 1. 4%2%3 8. 40 8.40 m
30. 3kg/m X 8.40m 0.255  0.255 ton
sz SRR
GF7FisfAs) | PLO-350X 350 6| » Ft
70. 6kg/m2 X 0.12m2 X 64 0.051  0.051 ton
e %] 90X 90 16.0, m
X LRSI EEEE 3.839 | ton
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(TA7 70 M %%) t=den i & = 189.0 KRB E D Y
A A TR R As RS i
(7277 Mahi ) t=4em Xk = 18. 50 YRR IED Y
s 207.5 m
[EiE] S AE B o S it i AT
‘ PRI AS )
747 7 M t=4cm P = 67.80| 67.80 m? REEEEHD
) RC-40
R % t=5em
B=4. Om*114. 9m
2B HHLEY | (No. 0+41. 5~N0. 3+6. 4) = 459.60
B=4. Om*80. 9m S
SEAHEEE | (No. 0~No. 1431, 6, ;BT K EEHEFER) = 323.60 K eaeo o e
s 783.20 m®
R IE TA77 v M2 T £ P 275.30 m?




